'ff‘(‘iﬁf S.5.C - (Part-)-A- 2015

Roll No. o Sl Group-I- b;ﬁj PaperCode | 5 | 2 | 6 | 3

| Sessions;2012-2014 , 2013-2015 & 2014-2016 .
(ceneral Mathematics (Objective Type) (Arts Group) (u"%/*)U" LJJ/’?
Marks: 15 Time: 15 Minufes 24 159 1517/:}

ez 'wJ:fou,;lﬁu)-ruEéé.JDJ:!,C,B,Aalffﬁ;@[gcf—dffﬁéﬂq;d(@fﬁUﬁf’é@:@lﬂﬁﬁ;—;mj’(ﬁ:h‘:—-ﬁ
' _L{J/ﬁr;:,w!fJgﬂ/’;L:Q_.?hﬁb‘?aﬁJUJ.?IJLD L CB-A sze L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided. '

1.1. Positive G.M between 2 and 3 is: ~ebmhad Aait 312 1.4
(A) %6 (B) +V6 © -6 (D) +/6
2. fR={(1,2), (3,4), (5,6) }, then Domain of R4 will be: T.L(J’Ec}::jJR-];ﬂR.l': {(1,2),(3,4),(56)} .2
(A) D B) {1,2,4} C) {2,4,6} D) {1,3,5}
3. What are the co-ordinates of origin? S Enlfehstl s 3
(A) (0,0) (B) (0,1) (€) (1,0) @) (1.1)
4. The summary statistics which measure the middle (centre) of the data is called: _rg..blqu.bff g;ng.«Ls&;&wsﬁwJ( 4
(A) Mode  wsk (B) Median .lb-s (C) Mean L~ (D) allthese ou
5. The simplest form of 24 : 60 is: —eFyiuif24:60 5
(A)1:3 B) 2:3 (C) 2:5 (D) 3:5
6. InaratioP:Q"Q"is called: S QesSPQ 6
(A) extreme JL;:PF (B) antecedent ..a:ajui?z"'f (C) consequent ﬁf@ ¥ (D) median @l
7. The share of widow in the absence of a child or agnatic grand child is: /,-fd:s U:Lulu’( c_.....i)’d:fgl_,;U:U:ﬁu:E’u,s b
: _.b’}f.bdlﬁﬁr
1 1 | 1 1
A 7 B) 3 © 3 ©) &
8. On a crop produced on artifical resources, Ushr is deducted at the rate of: _:;_.C,}J J}VJ ;@J‘WJ&&.&,MW .8
(A) 2.5 % (B) 5% (C) 10% (D) 25%
9. What is the cost price, when Sp Rs 672/= and profit = 5%. ?Jﬁﬂul_.ﬁ:,EIME%é’;:IJFuB?zaﬁ):éﬁ 9
(A) Rs. 406 &3/ (B) Rs.460 & (C) Rs.604 & (D) Rs. 640 &
10. The peroson or entity, whose insurance is being done, is called: -pgéf;frﬁa@gf&?;ﬂua}ﬁﬁ: 10
(A) insurer Y- (B) insured = (C) drawer L3 (D) lessee Lf}ﬂ
11. 20 % of 600 is: —c- 4420 ¥600 .11
(A) 12 (B) 20 (C) 120 (D) 200
1ﬁ. The excise duty at rate of 150%, on an amount of Rs. 2,00,000 will be. _Jﬁ&gffbfla.bf*(ﬁ50%,;@01?.:;3,00,000 12
(A) Rs.1,50,000 &  (B) Rs.2,50,000 & (C) Rs.3,50,000 & (D) Rs.4,50,000 &
13. Exponent of 5+/3 is: e lied¥ 53 13
" 1 1 1 2
(A) 9 (B) 3 (C) & (P) 5
14. The decimal part of logarithm of a number is called: _ugfi’):&d/dﬁfﬁiwu’( 14
(A) Characteristic ~b (B) Mantissa L (C) rational number .le’I: (D) real part .-ﬂ?(ﬁ?
15. AM between 3+/7 and /7 is: - k377 3T 15
A) 414 B) 47 ©) 247 D) +27
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8.5.C - (Part-1) -A-2015

Roll No. e Sp# Mt Gmup-l-nf:; SubjectCode| 5 | 0 | 2

General Mathematics (Essay Type) (Arts Group)

Sessions;2012-2014 , 2013-2015 & 2014-2016

o 2

Marks: 60 Time:2:45 Hours &£ 2:45:=3 60: 4
Section -1 2x18=36 diL.:n
2. Write short answers of any six parts from the following.  2x6=12 AL PN g e Sl S 2
i. What is meant by extremes and means? | Te s /u’;,j’,;,ru" N
ii. The price of 80 shirts is Rs 22000/=, What would be the price of Juw"sowm,uzznom-q Sus80 i
30 such shirts. | Snedy
iii. If a:b=2:3. Find the ratio 6a:2b. -é}*‘aa:Zb narb=2:31 ji
iv. What is meant by Ushr? el 2 v
v. Calculate the amount of Zakat on an amount of Rs. 9,00,000/=. é( 5 4 zﬂ:&_us 00,000/= v
vi. What is meant by profit? Seslpe & i
vii. Find the Sp when Cp= Rs. 480/= and profit=3%. -3¢ 1/480/= 4 F2d 1313% (j’i;i:’:_é?#&:}yj Vi
viii. Find marked price when Sp=Rs. 515.20 and discount=8% -1¢3/515.20/=23s ol 118% 2 9F Ly S i
iX. 1i.*‘lfhat is difference between current account and saving account? ?.;;,J)“bfuiﬁjﬁ’ Frlerikies ix
3. Write short answers of any six parts from the following. 2x6=12 -q&fagmﬁépfzrgc_éﬁthmﬂ "3
i. If the simple profit on Rs 640 for 12 years is Rs 384. Find the J ébﬁ;fm;_,.;saati’,b»”u_iédv12;4_,.;540)’ [
rate of profit. | U3 f
ii. What is the difference between direct tax and indirect tax? 'i'.{..u/’lfu‘ u’c “biy L_r.sfu'c “erlnly i
iii. The annual value of a flat is Rs 14,00,000/= find the tax HUL"‘IG%L—LM‘I‘I 00,000/==.¢ ,.,ULfJJJ [ i
payable at a rate of 16%. c:f'/ ;L”U’C f}foIJIJ bc:.b/J
iv. What is difference between characteristic and mantissa? *‘.::_.:J/*Ifu‘ LE2l b iy
v. Simplify and give answer in exponential form : {E'}a—? cﬁgu’df‘d/ Lxh..,;,rf;:rcf( ﬁ" A
vi. Write down in scientific notation: 0.0000281 s i
vii. Write down the first two terms. an = i u"‘?ﬂu&( Vi
viii. Define geometric mean (G.M) and write down its formula. 2 u“’%ﬂbﬁwxﬁuf._d/&adﬁ Vi
ix. Insert two G.Ms between 3 and 81. Ll Pdenl 81413 ix

4- Write short answers of any six parts from the following, 2x6=12 -q&fagfﬁﬁ?&ffﬂagaéfaw J_jz-,.u -4

I+

.

Iv.

A

Write down the co-ordinates of origin. -gfq:..bﬁd’:fly
Write down the set of integers. -J /;r/:‘ﬁrbﬁlﬁ!éa
If A={-2,1,4} then write two binary relations in A also write S/t St Ain=(2,1,41./1
their domain and range. 435(, S usletsd

If A={1,4,7,8} and B={4,6,8.9}, then find AU B. _20 AU B 3nB=(4,6,8,9)5A=(1.4.7 8}/
Represent the points on the graph whoes co-ordinates: A(.’Z 4) , B(3, 2) C( -5,~1) _.q,{,}w,;._n)ﬁw

A
i

iv

v




vi. What is meant by cartesian plane? Ti"L-JLf.'gLLSPLﬁ"gE/ Vi

S35 i
?.;:_:L,f__lfrc_.:ﬁnlf}f Viii

ix. Find the range of the given data. 2,9,3,6,12,8 e Givd 2y ix
Section -II (23>

Note: Attempt any three questions from the following: 8x3=24 _L{JQ;@LLEJZ@UVJ.&.J:&.JJ”E@: Wy
S (a) Ifthe stay of 14 men for 8 days in a hotel costs Rs. 22400/=, &_122400& L & /88T 14Ut fli (1) 5

vii. Define frequency.

viii. What is meant by comulating frequency?

find the cost for the stay of 7 men for 13 days. BTG L 136U 17t To.5
(b) Calculate Ushr on a wheat crop amounting to Rs 3,50,000/= £-/3,50,0000L S i Ll i)
produced by artificial resources. | _%ﬂ”}%
6. (@) If 15% discount on MP of a heater is allowed and still makes a ,E-f':r:.ajl?i(f..*.f:{ﬁ& 5{@5'&»; /‘:;:\.._Q'!)T ) .6
profit of 2%, if it is sold on MP. What is profit percentage? B e S
(b) Allied bank gained Rs. 8034/= on its loan at 6% Lbdte LY L 6% L2 (o)

compound mark up in 2 years. What amount did it lend? ‘-‘J,.s,.é;.q.;.uﬂ'é.,...ﬁ:'.d_;d" by #LDlre_2/8034

7. (a) Knalid works 6 day-week. Find his gross monthly wage, if his "L"I:L,‘agé.gxzoﬂgfﬁ_g_b/‘?Ku;:eu.f:iullé ) .7

rate of pay is Rs 200/= per day. vé‘ﬁazf;gLJnyJf}ng
(b) Find the value of ¥ if: log x=0.1597 2 Sy fedd x (L)
8. (a) Find the n term of an AP = (%T [%T (%) *a_ér(—;‘#ﬁq;nt,f,ufa‘? () .8
(b) Verify that AU(BUC)=(4UB)UC it /14U(BUC)=(4UB)UC St (L)
A={2,4,6), B={3,6,9,12},C={4,6,8, 10}
9. (a)-Draw the graph. y=4x+1 ,g-’;u’ () .9
(b) The monthly income of 8 persons are Rs 3000, Rs 4000, .{}_u400Uci_:;SDDUJ.aTU’:l}}!d/u::;TBT (.,.,)

Rs 3500, Rs 3800, Rs 4500, Rs 4200, Rs 3600 and Rs 5400. n{‘__u4200-ra’;:,;4500:4:_:;380&%.:;3500:

Find their arithmetic mean. -%F:"’Lfsfdvb’w!;;_dé_uﬁtiﬂﬂﬂl%uiiﬁﬂo
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ﬁ, ‘iﬁ' S.8.C - (Part-I)-A- 2015

Roll No. o S Group-fl- *-;.—-*‘-’/F PaperCode | 5 | 2 | 6 | 4
Sessions; 2012-2014 , 2013-2015 & 2014-2016 .

(zeneral Mathematics (Objective Type) (Arts Group) WS’ LJJ A

Marks: 15 Time: 15 Minutes 2> 15:&3 15:4

Ayl (12U eon WAt L £ 5Dl C,B A_,ruf,,ﬁfbidrr;cg@ TAEy /fLs;.,Lr;L...,uifrv o,
,u:/“‘.::,LS'*L«Ju‘L/ ol Hygkire EsED L CBe A sz L
NOTE: Write answers to the quesilnns on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. AM between +/3 and 3+/3 is: | e baGA33 N3 1
@ 243 ®) 53 ©) 93 ©) 43
2. If A and.B are non-empty sets, then AU B will be equal to: G AU B 3unist dnBuaAfl 2
(A) D 8 BUA4 ) ANB o) BNA
3. For Y=2in2x—y=6 then X is quuai to B ¥ e,y =2 f2x—y=6 3
(A) 4 (B) —4 (C) 2 (D) —2
4. The score which occurs most often in a data set, is called: _ﬁ:_allrci_fgyupcﬂgbﬁﬁrﬂafdjm 4
(A) Mode  osb (B) Median s (C) AM  kaldl> (D) Geometric Mean  Lild
5. The simplest form of 75 : 95 is: e Fy i 1§75:95 5
(A) 15: 17 (B) 15:19 (C) 19:15 (D) 17:15
6. é‘ in term of percentage is: ' | -:;‘_.uf{ﬁ(ff(} %
1
(A) 3% B) 1% (C) 33% (D) 335%
7. Inaproportion,a:b:c:d,"b" and "c" are called: -ujgf "c“,uf"b"u.‘...,.f[;d’ arbrera .
(A) means L,L""i (B) extremes u’-‘-’) (C) consequent ..l:ﬁfdj 1 (D) anticédent ...*.:-s.:‘ul?"-f
8. The share of a widow in inherited property in the presence of children is: ﬂsg_trﬁ;mﬁ:lglgfﬁub’ujuﬁ&ﬁr‘&ml 8
(A) i (B) % (C) "13" (D) % .
9. Profit is earned, when: :/"?:,;,rwd"bc? 9
(A) SP= CP  wdyjmd=yind (B) SP<CP wdsjod <ppod
(C) SP> CP .:.a-:/cw,": > 4 Fd (D) None of these S b
10. The amount which is paid by the bank on the deposits s called: g el tf Ve a ) A0
(A) profit Bl:» (B) bonus ujji (C) premium fff._:; (D) markup ..1,..—I..Jﬁk
11. A machine installed by the bank to dispense cash to customer is called: -L,;rgf;-_lf.—‘.-ﬂﬁ;lﬂ{ S’ﬁﬁmﬁ" GF Jiﬁu&.ﬁ; A1
(A) computer s (B) scanner F? (C) ATM éit:lz__! (D) card reader stsik
12. The tax charged on the owner of land, house, flat or __IJ[}" b LL:,J!,f_I:qﬁyﬁor:JﬁJg;s 32
building is called: gLt bl
(A) property tax Jg(j,;f,; (B) income tax J_er (C) direct tax ngfng: (D) indirect tax L/J"::sz—l:ik
13. The tax in addition to the price of the article is called: -uffi'fu'gau’ﬁﬁftﬁiff A3
(A) tax i (B) sales tax K (C) income tax Jcﬁ (D) excise duty (ysALEl
14. The logarithm calculated to base 10 is called: - _pggffﬁfyégwu:*louw A4
(A) Mantissa L& (B) common logarithm ﬁﬁ‘rb (C) characteristic b (D) natural number w&:ﬁ
15. Third term of @, =n+3 js: -%—ﬁ’deJan =n+3 15
(A) 3 (B) 6 (C) 9 (D) O
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S.8.C - (Part-I) -A-2015

Roll No. St Grou p-II-u.--:/ PaperCode [ 5 | 0| 2 | &
Sessmns, 2012-2014 , 2013-2015 & 2014-2016 .
General Mathematics (essay Type) (Arts Group) en$” (VO
Marks: 60 Time:2:45 Hours &£ 2:45 =3 60: 4
- ~ Section -1 2x18=36 (J?I,.b
2. Write short answers of any six parts from the following.  2xg=12 S e g e S 2 it 2
. Flnd the value of X in the proportion. _ 2{} o028 ux :ﬁq,)['ﬁ"’:.‘f d x L,C...wl.'i i
ii. What is meant by antecedent and consequent? T.‘a.:lf_lff;.:.:ff@ E.'-':L.*.-‘::JU'L?'I' i
li. What is meant by proportion? | | - S W ot il
lv. Calculate the amount of Zakat on an amount of Rs 500000/=. é/ 5 fr'x.*_uso{}UDU!— AV
v. If the wheat crop is produced 40000 Kg by natural resources, J /fﬁrtfﬁ 4GOUDJI;IyJJ”J .af;:_dl;, d;ﬁf V
calculate amount of Ushr if price of wheat is Rs 950/= per 40 Kg. _a.rif;bju‘) b{}d_JJQSUI"J Jp«fﬁ cfj/ .!h"{{f -'
vi. Find the cost price when profit is 5% and sale price is Rs 672/=. ~¢<-2/672/= _.a:juf 115% 8’,.54.@( ;'”x,?...‘i Vi
Vil. A trader earns a profit of 20% by selling a chair for Rs 2700/= Fing t~Lfci’zo%thész¢zrgjz?uuf=fa/bgzbb{ i Vi
cost price of chair? e ied /e
viii. What is meant by discount? sl Ve osf i
ix. Define pay order. | S8 ix
3. Write short answers of any six parts from the following. 2x6=12 _u’/ futrﬁ/""ﬁplfln?:.(j:&..gt;hbu 3
I. What is the difference between premium and maturity? “:..u/lfu"dzf ekl
ii. Define the income tax. | | _J/J}’Ju’cfl di
iii. Define the direct tax. | - ..(_{fug/"lfu'gwbgu i
iv. Write down in scientific notation. 0.00000075 _E:fguig 250 v
V. What is meant by characteristic? Ly
vi. State 2" law of logarithm. _L{fwkuﬁl}'y_ub’ﬁb? Vi
vii. Define the Arithmetic sequence ( progression) : -J/J;"J&U" Vil
Viii. Find the AM between /7 and 3./7. | .:,@F:]"‘Jﬂd"uy;:é\f_ #3J7 i
ix. Find the 5th term of a G.P, in which a=2 and r=3, -1 = 3la=2 kP -é?)h’[{fl,ff LLQ_-':'(J/JI iX
4- Write short answers of any six parts from the following. 2x6=12 -p_l_‘,/: /ui,f.ﬂ/‘fﬁflzug.:.éfaptd:&u -4
. What is meant by difference of two sets? Sl Ve SPL Ut
ii.. Define origin. a ' _ | _éé(_yﬁ&w i
i In A x B, write the possible number of binary relations, if number of 412 AN b EAx B i
elements in A are 2 and B are 3, ~UnJI3ULB
iv. Find (4 B) when: U={4.,6,8,9,10}, A<{ 4,6}, B=(6,38,9) LU (ANB)° v
V. Draw the graph of an equation x = —~2. | 3 e ’::' S xX==2chl. v

Vi.

Convert 220° F into-C®.~ -~ . -gé&gu: C'S 220°F i




—

vii. What is meant by cumulative frequency? | - ?;;;.:yﬂlf'::.:lﬁ:f:f Vii

viii. Find the range for the given data: 10,18,9,6, 22 ~Slprer Gl &y i
iX. Find the mode for the set of given data: 4,6,7,4,8,9,7.10 _g_éf;:b"a:bbfsfféé.: i
Section -II r‘::,.:n: |

Note: Attempt any three questions from the following: 8x3=24 ..u‘/ fublfﬁuﬂlfgf:..éfc.ptd’:bn Wy
5. (a) 14 cows consume 63 Kg of hay in 18 days. How may cows u:u;za_q;uu’m; 18 bk({fﬁ 63.€14 (JI) 5

will eat 770 Kg of hay in 28 days at same rate? | ?Jqfw/uflfﬁkﬂff 770
(b) A deceased left a property of worth Rs 1500000/=. J.:;»_Jl.%.mSDDUG{JI:J:faﬁL.ﬁé.‘:;_fi_JiQ (.,r,)
Work out the property if he left behind a widow. _J/’;:’-”:JLJ&’me W37 L
6. (a) Distribute Rs 720/= as profit amongst three persons so that L !ﬁj (7 1 (‘jL.s.s?zﬂf—u‘Jb*u () .6
their shares areinthe ratio 3: 4 : 5. #3145 ead iy
(b) Mr. Javad invests in savings scheme Rs 800/= at 6% per LC}JUL’G%.;:_:JBUD#L;I(:CJK»Q@Lg (,_._,)
annum and Rs 1200/= at 7% per annum. What is his total COL 2 T%od31200/= et L2
amount of profit on these two investments? “b‘?dhlf{ffr’:’;umuwm
7. (@) Calaculat the gross monthly pay of a person, if his basic pay is u'.;mub’,.,r/ <218 DODf—alfd:vagf{f () .7
Rs 18,000/=, house rent allowance is 3500/=, dearness mr.:';:L{__,:.JSUDD#J'&’UU@(J;:JSSDD;':
allowance is Rs 3000/=, conveyance allowance is Rs 500/=. ?Jrlf ij’::yLLf;f Jw?rLuSUU#uji Ul

gl
(b) iV = 112 then find V, where: 3—150>"T"3142: 8=32.16 . g gy 5V «J f (o)

8. (a) Find the 11" term of a G.P. whose 5™ term | is 9 and =d ('Jg,{;f &J@q)f':l”ﬁq:nﬁﬁrlﬁ st () .8
common ratio is 2. - _:5_2¢¢5J (2019

(b) IfA={2,3,4}and B={1,3), thenfind AxBand BxA.Also  Ax Bi#B=({1,3},A=({2,3,4}/ (L)

establish two binary relations each from these cartesian products. _L{w@w’tﬁu D el ,:u:’”/ BxA s

9. (@) Draw the graph of: | y=4x+1 _g s _(JJD 9
(b) The table gives the distribution of weights( Kilo grams) (/¥ Dl U100t ey (L)
of 100 people. Construct a cumulative frequency polygon | Iﬁ/__"'/d;!,r.;’lﬁ:f Kﬂy‘_ﬁ-_&,.;.u_k.‘:‘r d:Lo-'JJ
( that is, an ogive ) for the data. | 3 2L ai’)&mu:
weight (Kg) 2etus | 50-59 60-69 70-79 80-89 90-99 | 100-109
frequency pyeL | 15 30 35 15 - 3 2

224-09-A-28000



* - o S.5.C - (Part-I)}-A- 2016

Roll No. Lttt (For all sessions) PaperCode | 5 | 2 | 6 | 4

| . . Group-I- .._..,/f S ) . .
(-eneral Mathematics (objective Type) (Arts Group) WWHE I
Marks: 15 Time: 15 Minutes 2 15:=% 154

A edizas -..-m;i’f_,uzmrq_:ég__,jw,c,B,A:..gm@yédrmz:g;qwmuﬁ,vfw;;tg.ﬁa,mfru“:.u
' eSSBS 32 EUsIhED | C,Be A 372 bl
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
_question with Marker or pen ink on the answer sheet provided.

i | 7

1.1. 5 in the form of percentage is: | ' o -rf—ufyurﬂ{}'éﬁ 1.1
, (A) 35% (B) 35 (€) 20 | (D) 20%
2. Inthe proportion a: b ::c:d, "b" and *¢" are called: -pﬁff "ol "b"ui__-w{:?J arbegid 2
(A) means u‘!”: (B) extremes ;ﬂ) (C) consequent g.:ifd; ¥ (D) antecedent &.iuﬁ"-f
3. Zakat is deducted at what rate? | | | ?.;_Jﬁacfu/ REASTA!
(A) 3.5% (B) 4.5% (C) 5.5% (D) 2.5%
4. Ona crop produced on artificial resources, Ushr is deducted at the rate of: _.;-_E,/"J Jif'ff }ﬁ;d" JFJ.:ﬁK.:.giji” 4
(A) 5% (B) 10% (C) 2.5% (D) 25%
5. Loss is there, when: . | :fr’::‘;. byrled 5
(A) SP= CP  w3yjnd=, jud (B) SP>CP 33 jmd >y P
C)SP< CP  wiijed<yind (D) SP=MP  wsijmd = miunus
6. The periodic instalment to be paid by the insured is called: -ugéffiﬁﬁf 2338 6
‘.’ (A) bonus u’;: (B) discount *3K.3 (C) premium ﬁ..__f: (D) mark up ._T;l.ﬁt
7. Amachine installed by the bank to dispense cash to customer is called: -:E:.GJL;C.-‘:.G)’NI..{ 4 (:’:sﬁfu:é‘ LSF A
(A) computer _ﬁ;:;{ (B) scanner /.{5 (C) ATM ér(jf_:‘- (D) card reader i LK
8. Money that must be paid to the state charged as proportion of income Lét»uhfihfu; g#:;gﬁ'&dx&an .8
and profit added to cost of some goods and services is called: | -;;_JM.;;ESI;J I;If:.w_gs,;:,tﬁ.ul_iw
(A) tax J-C (B) excise duty J.fif L (C) property tax ﬂr.gtg (D) income tax u’gﬁ
9. The value added tax at the rate of 10% at the marked price of =0 8 10% 40z L e 112000/= .9
television of Rs.12000/= is Rs. Jf:rav_u._f-__..‘/? GLH
(A) 600 | (B) 900 (C) 1200 ' (D) 2400
10. \5 isequalto: ..r;_,’:L»:m .10
") 2 @ 2 © 5 ®
11. a5 0f3,7, 11is: wcag$3,7,11 .11
(A) 3 (B) 19 (C) 23 ' (D) 20 |
12. AMbetween 6+/5 and 2+/5 is: | | b7 25 51645 12
£ (A) 445 NS © 5V5 | (®) 745
13. If A and B are two sets, then*4U B is equal to: sz AU B JuysrsB oA 13
(A) D (B) BU A (C) ANB ' (B) BN A
14. In 2x=y =6 putting ¥ =2 we have * equal to: Mty X e 2, y=2 f2x~y=6 14
(A) 4 | (B) 4 (C) 8 (D) -8
15. The range in the data 2,9,3,6,12,8 is: -¢-=>1§2,9,36,12,85ly 15
(A) 2 . (B) 8 . (©) 10 | (D) 12
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Rﬂll NO. d—.&}ﬁ;l}_{:}f

8.8.C - (Part-I) -A-2016
(For all sessions)
Group-I--.;-:/

General Mathematics (Essay Type) (Arts Group)

Marks: 60 Time:2:45 Hours &5 2:45 &5
Section -I 2x18=36

2. Write short answers of any six parts from the following.

i. Express 1.26 as percentage.

Ii. Find the ratio of Rs.8 each to Rs.72 per dozen.

lii. What is difference between direct proportion and inverse proportion?

iv. Calculate Ushr on a rice Crop amounting to Rs.1,50,000/=

by artificial sources,

v. Calculate Zakat on silver amounting to Rs.3,00,000/=.
Vi. A bicycle was purchased for Rs.3450/= and sold for Rs.3850/=,

Find the profit percentage.

vii. Differentiate between cost price and selling price.

viii. Find the selling price, when marked price Rs.728/= and

discount is 6%,

iX. What is difference between Pay order and Bank draft.

3. Write short answers of any six parts from the following.

I. What is maturity?

ii. What is difference between direct tax and indirect tax?

lil. The annual income of a flat is Rs.1400000/=
payable at a rate of 16%

iv. Write in decimal form.

v. Simplify:
vi. Write in scientific notation.
vii. Write the first three terms of:

viii. Find the G.M between 22 and § yh.
ix. Find A.M between 5 and 15.

4- Write short answers of any six parts from the following.

I. Define universal set.
ii. If A={1,?,11.15.1?,21}, B={11,1?,19,23} and
C={2,3,5}, then verify that:

iii. Define function.

iv. Draw the graph of:

. Find the property tax

5.1x107°
i

(4
0.0000075
a,=3 +5

(AﬂB)ﬂC=Aﬂ(BﬂC)

y=x+7

Paper Code

e (Y3

Jil >

60:/‘,}

2x6=12 -q)}fl-,l,rzﬁ"&r;zuga&é.ptbtjaﬂ 2

LIS 106 |

- /'F’:b"' n.:--';jc},lfwiu)zﬂ L}s‘?_u?zﬂf%uﬂ s i

?%J,jgddla’h.f@ﬂwbqﬁ Aii

produced  ¢-1,1,50,000/=GAS Y btenibise Fistie iy

VP s,

_qﬁ}wsﬁ{ur;w%.ua,oo,ooafmgwu;gﬁ v
L-;.s:,iu:a:__y3350f=;,ngﬁ.£fu:.-;___uy345w=Jﬁfgb{f Vi

B 2P AR
-L{/LJ!{U“/’U: :*53,5&45.;:%,31:#_’? Vi

ﬂr‘;;u?zak:‘E,ﬁaﬂ.;éqf?ﬁf.:ﬁ,}d Viii

6%.2s2

?-?'... J){I(u:«.‘-:’bf_f;uﬂﬁ;ré_ ix

2x6=12 “q&fagaef?ﬁflmg;&é.wd;aﬂ 3

‘;'U_':!zr"_r::{é;}f: A

?-:‘:.J,jgu-fﬁ«fﬂlzﬂfu’ngbgfz Al
~6-4-2/1400000/==8 s Y-S5 (T ji
_%#J?J{:{un_ﬁm-_z, F2U-16%

TN 1Ty

_a&’gz}uxb Vi
_é f;’}uf&-?: Vii

—#{jﬁhfb‘!d/‘:’dkﬂ’L 8}}4 1252 viii
_a;_.f-FPm;*? 515,15 .ix

2x6=12 -Qé;égwﬁérfzhfcgfc_btdj@ﬂ -4

SIS i
AB={11,17,19,23}A=(1,7,11,15,17 21)./1 i
:féf-(;-{E?C={2,3,5}

-JIBI8 i

_ ’;- h.ilf v




V. Draw the figures with the help of following points on the graph paper, u%w{,ﬁ.&uﬁw;aﬂ V
A(Ul-s}l B(Br'z)i C(3I0)ID(6!7)

vi. Sketch the graph of: y=3x+2 _:g,ta._iJf Vi

vii. What is meant by cumulative frequency? S sl U sidfo? A

viii. Define Mode. ~US2 0ske i

IX. Find Geometric Mean of 2 . 4 and 8. _pj/f'ﬂ’”ﬁfsf:}ﬁﬁ'suf&ri JAx
Section -IT (220>

Note: Attempt any three questions from the following: 8x3=24 -Q’éfaymﬁaﬂb"@f&(jfa.djjbﬂ HO%
9. (a) Two angles in 3 triangle are 54° and 72°, Find the ratio {{_;d'.—fr:r.?.—*._/f'_pg?zﬂ.u154%__;!;:%1'.*@&._1;? () 5

of the third angle to the sum of the first two., _&"égsl”._-ﬁ»_-’uyﬂa’:ﬁfi uuu‘e‘rgfug:uuaf
(b) A person left a property of worth Rs.24,00,000/=. Calculate ul_d}:@fflstﬂLz__,_.uzti,UU,ODDI=£_U:T._£1 (<)
the amount of share of his wife, a son and a daughter, _é__.@';}”_:‘mﬁﬁf»@:fé-\-ﬂfdﬂfu e 2
6. (a) The selling price of 12 items is equal to the cost of 15 items. et g Pl &QITS&:)J&PH 2 () 6 r’:
Find profit percentage. _éig:l’iw.:*&’f
(b) Find the compound profit on Rs:4,000/= at 5% for ¢4-24,000/=00 2o 5% L 13 ()
three years. _%}"’3&&5 L

7. () If the basic salary of a person is Rs:30,000/= per month and he :.Fjslﬁ.g,q’a;sxa{),000!=»$B¢&de‘5‘7 () 7
's paid house rent at the rate of 15% of his basic salary and 10% SIS 10% S 15%K51 61

as dearness allowance and Rs.2000/= as conveyance 21 UDUI:JJIJEU!u*lf.a;:;zUDD;’:
allowance. Further he is paid Rs.1000/= as medical allowance, SP IS sy bl Pin S
then calculate his gross monthly income. _L,_{J",;.J’”af}'ﬂytdyf
2
(b) Using Logarithmic table evaluate the: (25'36)8 4};(50 '4569) -é’é&u!é{)h’f’uﬂgs’ﬁﬁ (..,.,)
8. (a) Which term of an AP 6,2,-2,....... is -1467 146l 622, ... by () .8
(b) If L={1, 2, 3} and M=(2, 3.4 }, then write a binary relation Izgi;;gf?ﬁnn:{z,a,at bell={1.2, 3.1 ()
R such that R = {(J:,y)fx €L,yeMAy< :r} also write R = {(x,y)!x el,yeMay< x}
Domain (R) and Range (R). LA Bt R
9. (a) Draw the graph of: y=2x-3 -g S (L) L9
(b) Find the mean, median and mode for the sef of the value _a}F)”uIp,rﬁftk,-:fﬁfﬂ.:fﬁuffdjjau ()

4,6,8,7,4,9,7 10
222-09-A-




WK

Roll No.

8.8.C - (Part-I)-A- 2016
(For all sessions)
Group-II- i--'.!j
v

General Mathematics (objective Type) (Arts Group)
Marks: 15

Sl PaperCode | 6 | 2 | 6 | 4

. &
. L

&S 2
Time: 15 Minutes &4 15:3 lﬁf/;;'

A3z e T Eflﬁuzrggié.JDJs!,C,B,A@Elﬁ;ﬁ_l.gé:d!rﬂéﬁ’{f@lﬁfﬁﬂ/”ﬁfd:;gmig,UIer?:..LJ'

S e SIS I 32 s LD | CBe A sz L

NOTE: Write answers to the guestions on objective answer sheet provided. Four possible answers A,B,C & D to each

question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

question with Marker or pen ink on the answer sheet provided.

1.4, 1R ={(4,5),(5,4)(5,6).(6,4)} , then range of R is: bR R={(4,5),(5.4),(5.6),(6.4)} /i 1.4

.}A){‘l} (B) {5) (C) {6} (D) {4,5,6}

2. If ¥=3X thenfor x=2we have Y equal to: BV ?uf:x =24y=3x /i 2
(A) 2 (B) -3 (C) 6 (D) O

3. H=—"— is called: ety H= s B

1 : |
Z[;J Z[EJ

(A) harmonic mean Ll £x} (B) Mode  »sk
(C) Mean bl (D) arithmetic mean bsl>

4. 20% of 600 is: -;1;20%5’500 4

(A) 12 (B) 120 (C) 20 (D) 200

| ‘ In the proportiona: b :: ¢:d, "b" and "c" are called:
(A) means (B) extremes oA/t
6. Zakatis deducted at what rate?
(A) 2.5% (B) 3.5%

7. The share of widow in the absence of a child or agnatic

grand child is:
! 1
A 3 B) 3
8. Profit is earned, when:
(A) SP= CP  wdyjed=sied
(C)SP> CP w3 > 4 /ed

gL s St Saibicid 5
(C) antecedent i1 (D) consequent (5%
e dre AU PS5 8

(C) 4.5% (D) 5.5%
Lf&.a?r‘/;‘.'l,}/:UJIJJTJ::..J)’J._.‘_.-I,LJﬂjlufl.:ﬁfﬂFnzs i
?rt;.t'ﬁ,-bulrrﬁ |
1 ! ;
© 5 O - '_ .
YRRV RN
(B) SP<CP w3 jmd <piead

VAL ;

(D) None of these

9. A bill of exchange drawn on a specified banker and not expressed wﬁ'{i_/.;,hrnﬂm;;,/%&{gm{.J,p 9

to be payable otherwise then on demand is called:

(A) cheque & (B) pay order .3/

1} 0. The person or entity whose insurance is being done is called:

(A) insurer (B) insured %

11. The taxes which are charged on income, property and profits in

the form of income tax, property tax efc. is called:

*

(A) tax U~

(B) direct tax ngfzgu (C) property tax ﬁfé@ (D)

_,;_ruffﬂgﬁ_,@g.:
(C) billofexchange J¥b: (D) bankdraft 3G
el eSS E 2 10
(D) lessee (7
LES oSSt A Brmtedatabe 11
Y -

(C) drawer 3

income tax

12. The form of a tax which the buyer pays on a manufactured item at the time of J—%&;Lﬁﬁqu_‘ﬁ{ 28068 12

purchase is called:
(A) excise duty  dgiALT B) tax o
13. \E is equal to:

(A) 2° (B) 2
14. For 2,6,11,17 ,.......... Gs is:

(A) 24 (B) 30
15. Third termof @, =1 +3 is:

(A) 3 (B) 6

et by
(D) sales tax JC/L’
-ﬁ:..-.a:".-’.'m 13

(C) income tax A

(©) o @) i
eed§ A t2,6, 11,17 o, 14
(C) 21 (D) 22
_‘F_:Lg/fjun:nrﬂ 15
©) 9 (D) 0

223-09-A-WW



8.8.C - (Part-I) -A-2016

Roll No.

o S4P i

Marks: 60
Section -1 2x18=36

2. Write short answers of any six parts from the following.

i. Express E as a percentage.

ii. Increase 40 books in the ratio 5 : 4. What would be the number of

increased books?
iii.gDefine direct proportion.
iv. What is meant by Nisab of Zakat?
v. Calculate the amount of Zakat on an amount of Rs.5,00,000/=.
vi. What is meant by profit?
vii.
Find the profit percentage.
viii. Find marked price, when sale price is Rs.858/= and
discount is 12%.
ix. What is meant by bill of exchange?

3. Write short answers of any six parts from the following.

If the simple profit on Rs.640/= for 12 years is Rs.384/=.

Find the rate of profit.

ii. Define tax.

iii. Price of a computer is Rs 34800/= inclusive of 16% sale tax. What is

the original price of the computer?
iv. Simplify:

solution in scientific notation.
vi. Write down the value of: Log6.304
Find the 7™ term of an AP where:
Find AM between x-1, x+7.

ix. Findthe 5" termof a G.P 4, -12, 36,

VIi.
Viii.

4- Write short answers of any six parts from the following.
'; Write associative property w.r.t union.
ii. Find AU BIf:

ii. If x={a,b,c} and ¥y ={2,4,6} thenfind VXX

(For all sessions)
Grnup-II—fjf
General Mathematics (Essay Type) (Arts Group)

Time:2:45 Hours &£ 2:45 s

A bicycle was purchased for Rs. 3450/= and sold for Rs.3850/=.

(fj-’z )}/ (yaxcl

v. The radius of earth is 6400 km.Convert it intfo meters and write the

a _.=3n+9

A={a,b,c}, B={a,e,i,o,u}
_J/?:"’yxx:‘ry {2,4,6} s x={a,b, } i

PaperCode | 5 | 0 | 2

Jilo

2x6=12 -q&fagmﬂ"f&rﬂ;;ﬂ:&.tﬂdsm
_Abastads L

A ASTN BRI I A A €3 04

?J,«;Qw

I i

??Jygégﬁfw
S5 54082 /5,00,0000= .

el Yl

J~<-2/3850/=s! m,k_fu‘:%.y?ﬂlﬁﬂf:ﬁ L

WY NI A

I8 3/8581= 23 p sl o St b ok B

—e12%25%
sl Wa JEDEAL

x6=12 _f Sy felin iz e M it .
SCuecding1,3841=Clral 122 1,640 i

é( (U7

_.J/...n'/’JJC K

K AB% A e b 3s34800/= 2t (]
e el Pt e S

Sy e AUB

el 2
60: 7~

Jdi

AV

Vi

Vii

Viii

(L
gl

)F/ _4{/‘; v
Lt et o 12K 6400=UbMts N
_zggu:(’: S5
-E;E’J:.-f Vi
.(5‘%;31” r"l._p n g% i
d,@?:b’lwd"ubwﬁ x—lex+7 .vii
LI5S, 12,36, M i

2x6=12 Sz ezl g = e it 4
U g pire by i




Iv. Write three ordered pairs for y =3x+1 .

9
v. FF° = i C” +32, then convert 150 F" into (0.
vi. If 2x+jﬁ=6, find V,when x=1.

—

- vii. What is histogram?

viii. What is meant by Mode?
ix. Find A.M of given data, 4,6,7

Section -II

Note: Attempt any three questions from the following:

5. (@) 6 persons can do a job in 12 days. If 2 more persons are

employed, how many days will they take to complete the job?

_uff,f_.}ﬁh,}‘/zglrsiﬁg_ifféi y=3x+1 v

SIS C S 150F 3v F° =?-><C“ +32.01 v
_q/?PaEJYFﬁx=ISfZI+J?=6 Vi t

e bl S i

sl U osle viii
[ -

~UPAB KU S ix
(22>

8x3=24 (S Jpfelnd e b e Ut it 1o s

xPET2 gt Stz £6.4 g6 (1) 5

?gﬁUf ) .3}: Z [’ b’u;u: '—lf %j-ﬂ!’:

4,8,9,7.10

(b) A deceased left a property of worth Rs.45,00.000/=. If he left -SFededie 245,00,000=L L ()

behind a widow and two sons, workout the share of each.

6. (a) Umer and Ali purchased a plot with investment of

Rs.3,00,000/= and Rs.5,00,000/= respectively. On selling

the plot they got a profit of Rs.2,20,000/=. Find the share

of each in profit.

(b) A bank gained Rs.8034 on its loan at 6% compound

mark up in 2 years. What amount did it lend?
7. (@) Khalid works 6 days-week. Find his gross monthly

wages if his rate of pay is Rs.200/= per day.

i 25.36%3.4569

L o AN L R Sttt
19¢2s3,00,000/= b b L12_Jont £ (L3N 6

Lol S S 54 2/5,00,000/=

CtnTe12,20,000/= 110 flusy)

S o L

Lkidle Ly foie%d L2 (L)

S f sl b L Syt Bive_1,80341=
ity 3s2000= e bIPHen6 Utz (i) 7

-a;?ﬁ*;zuy.dﬁ&w?é_w

(b) Solve with the help of logarithm table.

8. (a) Find the n™ term of an A.P

(b) IfA={2,3,4}andB={1, 3}, then find A x B and B x A. Also

9.87x8.93 GLesubbnl B ()

g il (L) 8

AMAXBIB={1,3)sA(2,3,4})1 (L)

establish two binary relations each from these cartesian products. -y ho‘-’@uﬂ% gl ;f:'_u:ffﬁ BxA

9. (a) Draw the figures with the help of given points on the graph paper. - bty mofieL s, (LI 9
4(7,2),B(-6,-3),C(5,3)

(b) Find the standard deviation of the given values.

224-09-A-
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D & D (Pari-I)-A-2016

(Lurs) A
(For all sessions)
(AU A,
Mathematics > .
. -ﬁ'g/fdfb’téfd'ﬁt
Paper: (Objective Type) (K324
Time allowed:45 Minutes &2+ 45 1= .
Maximum Marks :15 15 /‘f :!}th‘;w
Ml 1z W L S ¢ 2L e 4 2g Gtz £ udvat 2 U
b A L GF Gl o g
15 2 BBV Vg lRernacenItble St L szl L iy .
1.- Some possible answers are given for the following qguestions. Tick mark ( "4 ) the correct answer. 15
1. The fraction form of 70% is: 0 - -;_:J*U /’/d/ 70% .
7 (D) £l (C) 10 (8) 70 (A)
2. 20% of 600 is: --20%%'600 .
200 (D) 20 (C) 120 (B) 12 (A)
3 % in the form of percentage is: ..r.-:'_uffJMd% ;
33%% (D) 33% (C) 1% (B) 3% (A)
4. 0.13in the form of percentage is: _q_ufyurﬂéﬂ.13=? .
( 10% (D) 13% (C) 30 (B) 13 (A)
5, Zakat is deducted at the rate of: - &ﬂ;@};f@:ﬁj?ﬁ .
5.5% (D) 4.5% (C) 3.5% (B) _ 2.5% (A)
6. On crop produced by natural resources, Usher is ?.—;_,Lgrﬁfjf'd/ J)"’U /"’,;Jﬂ’ L?; J&f‘b/::-éb}a;ﬁ :
deducted at a rate of:
20% (D) 10% (C) 5% (B) ) 2.5% (A)
7. On crop produced by artificial resources, Usher is ?n;;_gbﬁf J%J;%,;J" Cf J:.;ﬁﬁ’.::.éujﬁf""
deducted af a rate of:
25% (D) 2.5% (C) 10% (B) 5% (A)
8. Deduction of Zakat on Rs. 1,00,000 is: Tr"_.l_{(&;fdlifb_;%.u‘l 00,000
&_15000 (D) &1,2000 (C) &_1,25000 (B) & 22500 (A)
9. Share of widow out of inherited property in the presence of children is: T.—;_E-'r(ufgﬁﬁr& ujl)_:muiﬂ_,:ﬁtf{ﬁﬁs’m
1 1 ] I
D) (D) 3 (C) Q (B) 4 A )
10. Profit is earned when: I/'ﬁl:—:_.t'tggd"lptf}
e po B) wdped <iied (€) edjed >uled (B) =dijed = pied (A)
11. Loss is there when: :ﬁ.-_:;_ bae el
ehjedz el O) wijed <pied (€ esfedsiied B) shjed =uled ()
12. The tax which is charged in the form of income, property fd’ p _'Jﬁbf Lfeufﬁ;c'immg@:&ﬂgﬂ;
and profit is called: -l l?'JJfC:‘L l:‘L_og-’Uﬂm_)f’.
income tax Jgﬁ/f (D) property taxug;lglf (C) direct tax Jg;;-rbgb: (B) tax J—C (A)
13. Tax in the form of duties or motor vehicles is called: Y1 ':i’:(ufwdﬁ Jﬁﬁ:ﬁﬂ Y

income tax uJ-'/(;I (D) property tax ngglg (C) direct tax ngl;gu (B) indirect tax Jg:!afb’i, (A)

ey ncnd

14 The tax in addition to the price of article is called:

excise duty Jgi:FLfI (D) income tax u’gfi (C) sales tax ._)J;/L’ (B) tax u*; (A)
15. The tax paid by the buyer on manufactured item at the time of bﬁ)fﬁk:ﬁjﬁﬁﬁifﬁjuﬁ{z;g [j/,f"w(j),
purchase is called: :L{rjé;,rcf__
sales tax JE/L; (D) income tax Jgff (C) tax Jg (B) excise duty Jgj;ﬂ.—f! (A)

D-11-09-A-600



D & D. - (Part-I) -A-2016

Roll No. e Siré (For all sessions)

Mathematics - -

Paper:I (Essay Type) (J)’..._I-' 151)11,,;{

Marks: 60 60 : s

Time: 1:45 Hour 2 1:45:203
Section -I 9x4=36 d,‘j’l,.:b

2- Write short answers to any nine questions from the following: 36 _.Z;fg @LM&@UV(B)}LJJ’:-JJ_ 3o -2

Il
iii.
V.

V.

Vi,

Vil.

viil.

Xi.

Xil.

Write % in term of percentage: -u:.“"&d’lﬁ(fﬁ&f % |
Define the proportion. - _’_‘/._éf/""J.__ﬂE Rl
Write 75% in fractional form: s T5% i
What is called "a" in the ratio of a : b ? Tuj':d/l[f"a‘wa b v
What is the ratio of deduction of Zakat? ﬂ;.fiﬁlﬁf,}g( J}(J SR
Define the Zakat. S/ A5
What is direct tax? ?Uggcfggyugu Vil
Define the income tax. -L,:f_gifd/‘jg?l Vil

ix.. What is called a tax in addition to the price of an article? ?@igfﬁ&uuﬁtﬁzu’ X
What is the share of the widow in inherited property? e tﬁgﬁgﬂﬁu:)!gifffbﬂ X
Define the Sale price. —L/:/u.—ff/;(;u:‘-—?!/,&é Xi
Define the "Nisaab". S i

Section-II (292>

Note: Attempt any three questions from the following: 8x3=24 _aaagrgé_-uuwfgdf;utd_saﬂ WLy

3.
4.

Find Zakat on gold amounting to Rs.11,10,000/= _LZ/’(’!L"?}G{J';’!F&“__J;1 1,10,000/==JL. i v N3

If a man left behind a widow and two sons. Find the share &fL.:ﬁmJulﬁum.;‘;e;.’g:_mwbgé;;_Ji,f_gfr 4

of everybody from his inherited property of Rs.20,00,000/= sl )F:’-"‘-:«JLJ é.ﬂugﬁ;u:d__._um,ﬂﬂ,ﬂﬂﬂh
Find the sales price if purchase price 9600/=, profit 10% -a.:_y96001'=¢,5':.¢f :10%=3I .ﬁ;’dﬁf'/-p]”‘_w;/’:.‘f 5
If Ali, Danial and Abdullah share of 7,50,000/- and E_./U”ng:cé15.»::_.de’fL/Jé___u?,ﬁt},ODO!=..‘;“JL%:I(_Jgbrlfﬁ 6
they find profit of 15%. Find the share of all for the %23 5eadUiy ,biglﬁ,q/?}”dbs’yﬁﬁdf Just
ratioof 2: 3. 5.

If an airconditioner's price is Rs.40,000/=, find the sales tax L};UL/16%,;@!?;4.—*?.:.:40,000;{@-’,}»{;5 NSO

@ 16% per annum. Also find the price without sales tax -é_‘_rff')'”f /.?LJ-*C/L’:..E J ﬂ,’cljé'u,, /?“Lg/'?‘;b’a{g?:)fc_
D-12-09-A-600



D & D (Part-1)-A-2018 (uf:[__jr,ﬁf)/j}d;
(For all sessions) |
(Ui s
L> .
il 290 igshing
(U'fy"’)li..g{
S 45 e .
q 15 :/::,Lﬁf .‘r‘b{?_‘fthf
B il e L S ¢ 293 L SR, 24 U2 £ Uty f U )
S T A ST LT 35T
15 e BB (Vv yMrern e eon Iz fic Syt e szt vy A
el HOFIsE L
7 (D) s~ (C) =’ (B) —E (A)
?L{.r&"_”/"ulfdmﬂﬁglﬁd/a:b:c:dz? 2
w35 (D) 5% (C) o2/ (B) 5 (A)
3 - 1
_.-.:'_.t'ﬁJ&JHOE 3
l
335% (D) 33% (C) 1% (B) : 3% (A)
?b?ﬁbf.bﬁfjiufL{!ﬁr"Juf;J:IU/:.J/L‘JEl_.ﬂf:ﬂi'n_gj 4
1 1 | 1 [ 1 1 1
275 © 23 © 23 ® 25w
Y - Y o MY T AP I
J% (D) C (C) IS (B) Al
_bgjd/fc,/“é"JdﬁJ.fJJLdb' 6
»» (D) s (©) 2z (B) | few
_gi_#gﬁlﬂmﬁufu“[.w":aJLJ:...JJLJJﬁ 7
| 4 4 2
~ (D) 2 (C) 3 (B) ) 3 (A)
ce & P55 d0g22,00,000/= 8
£,1000 (D) £-,10000 (C) &3,7000 (B) &-2/5000 (A)

ol WA= Sz o
Gy3ALE1 (D) J':rﬁ (C) Sk (B) A @)

I D2 Uit o sbos: A

! 1 1 |

3 (0} 2 (C) 4 (B) g (A)
-ugcjilffu;y;;éu:rﬁ‘up;ugu A

= (D) U~ (C) —F€ (B) B (A)
eV A SIS e Cu3dis

5% (D) 30% (C) 20% (B) 10% (A)
ﬁfﬂ.bu:u:}”)];ﬁdj&ug]u_j/ﬂ 1

é (D) % (C) % (B) é (A)
-%Jﬁwu’:u:béd}m.;;_ﬁﬁm A

4:1 (D) 1:1 (C) 3:1 (B) 21 (A)
..J‘LJ::M&J?L?S A

30% (D) 25% (C) 20% (B) 28% (A)

D-11-09-A-




“V-60-Z4-0
L' (FLAPDFH 007 =I0g L0 R Di 10T =028 P AR A2
o AT
6 1 ATDPIFT=1000'00'E " PHUNTLf ey 1
P’ yﬁ*‘;{’?u%%ﬁ 7416121000006 L F 3TN AT E T HE T G ey T
¢ Iff"’?f’ﬂ'ﬁ"-&mom’l-L“‘f?-’»fflﬁf’rjﬂ,g{.)Jﬁ'
§7: PN E AN EN T ™ VIt

s

LA
s O ALA s
X' j’#j‘i 3/5'}%‘

(e

- 1
HIA" ;q;-r-—.;rﬁ/]r'vé

A 5/’;’{@*;?”*

N T 720

W {s e

A rpdgpffﬂfa:’f;ﬂﬁrj?"%za
A=Al

L prgr

1" S =AL

g RPN =N =EB) A= N T ™ 9

=16 .
syl g
09
PRI (105T)

Valen

(suoissas |je 40d) |1 'ON 1104

BI0E-V-(1-140d) - ' ® d



*‘[ﬁf S.5.C - (Part-)-A- 2018

RollNo._______ . Jéhai (For all sessions) PaperCode | 56 | 2 | 6 | 3

. Group-I- .,:..«.s/( ) . .
General Mathematics (Objective Type) (Arts Group) (oﬁ/')(f };JJ 7.
Marks: 15 Time: 20 Minutes & 20:=3 15:4

A d882 S e 2Pt L £ 3Dl C B AR L vy z.g.vq;g(q:gu‘sf*fdmgmz:aurfrw:.u

S S S SIS H 5 A UsED | CBe A 32 LL
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided. |

»

1.1. 1U={12,3} , 4={1} thenU—-4 is equal to: b U-A3:A={1} U={1,2,3} /i 1.4
) {1.2} ® {13} ©) ¢ o) {2.3}
2. For Y=2 in 2x—y =6, we have ¥ is equal to: sy X e E,y=2 S2x—y=6 2
(A) -4 (B) 2 (C) -2 (D) 4
3. z (-T,- —;) = ( is one of the properties of: ..;.L*Lgbf:.»#l.;:’/ Z(I,- - ;) =0 3
(A) Geometric Mean  bsIQ} (B) Harmonic Mean Lol £yl
(C) Arithmetic Mean  L-IJL> (D) Mode wlb
4. 20% of 600 is: | | _c-20%K600 .4
(A) 12 (B) 120 (C) 20 (D) 200
7 ;
B: 20 in terms of percentage is: | - e Jﬁ&wd% 5
. (A) 35% (B) 35 (C) 20 (D) 20%

6. On a crop produced on natural resources, Ushr is deducted at the rate of: -.-.;..Z,}J J?'J/""._{J" df J..-:.‘f*b’a.(‘j{bja;ﬁ 6

(A) 2.5% (B) 5% (C) 10% (D) 20%

7. Zakat on an amount of Rs.1,00,000/= is: ; -< J}(J‘E}G{J&.M,DU,UDU# o &

y (A) 25000 (B) 2500 (C) 2000 : (D) 15000

8. Profit is earned when: ety M R

" (A)SP=CP iy ied B) SP<CP w=dsjmd<sind

(C) SP>CP w=dsjed>sind - (D) SP=MP wsijed=cldp /s

9. The amount which is paid by the bank on the deposits is called: _ugéf:,l;t:ﬁ;i :.?uc;*f&f Jlf &9
(A) profit b (B) bonus ¥ (C) premium (£ (D) markup A

. 10. ADbill of exchange drawn on a specified banker and not expressed to be ,;é_/‘,&;:mg@ﬁ;kﬂﬁgff?-gﬁ&%? 10

payable otherwise then on demand is called: _;;_tlkﬁﬂggug;f:f&l?
(A) bill of exchange L (B) pay order .:ifrk_}_ (C) cheque 0 (D) bankdraft &iif

11. The tax in addition to the price of the article is called: _ugi,{;? (:SLHJ.;E J 5;}'( 11
(A) tax Jg (B) sales tax u@f (C) income tax Jgff (D) excise duty Jgj:FL-_.fI

12. The tax charged on all the taxable income is called: _.:;.bquﬂbtg_l,ﬁ,;aﬁgfgdﬁ'rﬁﬂﬁs A2
(A) sales tax u’g/k' (B)- direct tax Jg.-_*.winl.: (C) excise duty Jg{ifl.efi (D) income tax u‘gﬁ

3. 3 is: Sesuld /3 .13

" (A) a rational number mu"l't (B) an irrational number .!'JFJbt_/;a

_ (C) natural number Py _ (D) an integer mg

14. Third term of an=n+3 is: _.‘g_ﬁd/ﬂf an=n+3 14
(A) 3 1 (B) 9 (C) O (D) 6 ;

15. Fourth term of aﬁ:m is: ,‘F_ﬁfw H”':m 15

1 1 1
(A) 7 (B) 49 ©) g1 (D) 0
221-09-A- W W |



S.5.C - (Part-1) -A-2018

Roll No. o Lpbart | (For all sessions)
Grnup-l-ujj .
General Mathematics (Essay Type) (Arts Group) e’ _l,JJ 7.
Marks: 60 Time:2:10 Hours &£ 2:10 =3 60:
Section -I 2x18=36 J.‘i'l,-b
2. Write short answers of any six parts from tﬁe following. 2x6=12 -q&iayrgﬁ?&rzﬁg;gj)?_u:;}_uaﬂ .
i. Express 2.64 as percentage. _2/ S 264 |
ii. Define proportion. éf_uf/’d’...wb Ji
iii. If 82% of the houses have television what percentage of the houses ul’ e u.yfﬁdaf :’uruz,sd’ L,tu:/f 82%./1 .iii
do not have? v s
iv. Define inheritance. é:.n-f/’l,( (27 v
v. A person left a property amounting Rs.30,00,000/=, Calculate the 17 S dedie 130,00 nom-»_ﬂ.ﬁ v
amount of his wife if he had no any child. é/ P’JLJ.mLLnyJI ;fy,.,jd;"uLﬁ
vi. Find SP where M.P=2760/=, discount =5% 5%...-.*"”&_1;2?6{}! JEFCJJﬁé( PJ:/HH Vi
vii. Define sale price. ::,"f-:.nlftfu?:,’._d’ il
viii. Find cost price (CP) when sale price (SP) is Rs.672/= and profit is 5%. _.4,5%8 :1_116?'2!—@:/...‘!.&&( }’”AJJ Vil
ix. Convert 5000 Saudi Riyals into Pakistani Rupees where: 1SR=Rs.22.3449 ,ﬁ:’é{a’yu” u:'udeLde;d:f"EUOD .ix
3. Write short answers of any six parts from the following. 2x6=12 -q_’): /ul_.b?ﬂ{ﬁprmg;d)é_.wd:@ﬂ 3
i. Define Bank draft. f{a}J_}m_ﬁ» J
ii. Define Excise duty. - =Ly A5
ii. Price of a computer is Rs.34800/= inclusive of 16% sales tax. What 2k 16% U % 22,34800/=2.3 J_o-‘if i il
is the original price of the computer? e fed J‘Idffg.‘:‘;_d‘l,f
iv. Write in scientific notation. 2566324 el
v. Solve it: log (x~2) =1 SIS v
vi. Find the value of Xif; logx =0.1597 );I{,_{JF':L”‘.:,EJ X i
vii. Write the first three terms of: a, = 21:15 it i
viii. Find A.M between -3 and 7. LI Boen L 3.7 i
ix. Find G.M between 3 and 27. U frend 2743 i
4- Write short answers of any six parts from the following. 2x6=12 -q);rfagmﬁ:"d:;m@cﬁf;.utdjaﬂ -4
.. Define "difference of two sets". u&“:.{hy/U Uiumn” i
ii. Find AU Bif A={a,b,c}, B={a,e,i,o,u) :ﬁg%iv AUB i
iii. IfC={1,2}, then find CxC. ,éﬁmc}ﬁc ={1,2).71 i
iv. Define Cartesian plane. _a__,iig/w,:-*uﬁ?g v
v. Represent the point C(-5,-1) on graph paper. _.5_:5-;%'{ ,_;;f:..ii}j’ C(-5,-1).L" v




Al e e T e ey bt el e T b T e e Wi B

vi. Convert 97°F to °C using formula. -EZJetocs B?DFE_M"_/UWI,_K Vi

vii. Define median. P i
viii. Find the Arithmetic mean of the data. 195,193,186,184,191,172,168,187,189,196 oGl i
ix. Find range of the data. 6,8,10,14,13,12 e ix
Section -II (922>

Note: Attempt any three questions from the following: 8x3=24 -q&fagméamfefaéfgufdmﬂ Wy
9. (@) Juice manufacturer produces 3000 bottles in a day employing U2 430002 n2 Sr6:00,55 8 K15 (LIN) 5

15 workers working 8 hours a day. Find the number of bottles Setinssd B)’fals"iﬂ_t,fz_);ﬁ,f.' oLl
manufactured when employs 18 workers working 6 hours a day. ?ﬁg,ﬂgf ;’{j‘;{ Juﬁ,:r;u.;.,g
(b) Akram left a property of worth Rs.480.000/=. He left behind LJLU’};{;LF'L;J.'_*,;'L.—;:_:ASD,DDB# i..r/! (‘7’)
a widow, three sons and four daughters. Calculate the S o I sl L-,L:fu.t:-’a.gé’é_l
share of each one. ..%F:"’_:J"LJ,ELH‘Q
6. (a) Distribute Rs.33,000/= as a profit in a business regarding [‘fy&:dﬁélu}ffg:%_1133,000!"=U:JE}JE“|-£1 () .6
three persons if their shares are in the ratio 3:5:3 *ﬁ31513&ﬁ";u:u:h£df.§¥

(b) Aman borrows Rs.100,000/= for 3 years at the rate of 16% J\25L" 16%<- L Jb-3¢-2,1,00,000/=¢ 741 ()

compound mark up p.a. What is the markup he has to pay? ?{ﬁtﬁjf?ﬂ'JLEfo-s:_-WJLﬂﬂﬂLﬁzﬁé ULzJ._T.J

7. (@) If the price of an airconditioner inclusive of sales tax is %JJ4U,UDDI:JE}J{J{¢*EJﬂM!bgﬁ () .7
Rs.40,000/=, then workout the amount of sales tax on it at the rate _&_.fF:’-"(";JJ@—-’;E,f;HMG%E,;JI?ﬁ
of 16%. Also calculate the price of airconditioner without sales tax _%ﬁfﬂﬁggﬁ’;j $ A 7
2.38x3.901 ”
(b) Soive with the help of logarithm table. 4.83 -é.g(dp -:-Murdw(i@ ()
8. (a) Findthe 7" term of a G.P 2,8,32,...... e, iy s (L) 8
(b) 11U ={1,2,3,4,5,6,7,8,9}, 4={2,3,6,9} and A4=1{2,3,6,9}.U={1,2,3,4,5,6,7,8,9} /i ()
B={1,3,6, 7,3} . then verify that: | (4 UB]EI = A" N B¢ :fé:::&?ﬁ B= {1,3,6, 7,8} !
9. (a) Draw the graph: ' y=3x+4 ,g_.iif () .9
(b) Find Mean, Median and Mode for the following set of data. _g?}vp;u;;rz:w.-,cmrm.*.fiu;f‘_z;z-,ﬂ ()
4,6,7,4,8,9,7,10

222-09-A-



ﬁﬁk S.8.C - (Part-1)-A- 2018

RollNo.________ o Sosmuid (For all sessions) PaperCode | 5| 2 | 6 | 4
Group-II- h;sj .

General Mathematics (objective Type) (Arts Group) (u"if)(f !:JLJ 7

Marks: 15 Time: 20 Minutes w2 20:e%s 154

A §6diz s e W2 et LD, C B AR L i c:,‘qud (25 ozl et ns s
U3 e LSS S e A UsED L CBe A sz L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,.B.C & D to each

question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
qestion with Marker or pen ink on the answer sheet provided.

1.1. What is A.M between \/5 and 3\6‘? ?.:;..Lr'lr:ﬁ‘?w 3\@1:'\5 1.1
(A) 243 ®) 53 (©) 93 (D) 443
2. 4AU(BUC)=(4UB)UC s called: = di’ AU(BUC)=(4UB)UC >
(A) commutative property  bise <0 (B) associative property (it
(Cy De-morgen's law u.ﬁﬁ'(g)’jrd 5 (D) intersection of sets & HEU~ |
3. What are the co-ordinates of origin? ?@Lﬁgalgﬁﬁfg 3
(A) (1,1) (B) (0,1) (C) (0,0) (D) (1,0)
4. The middle value of data arranged in numerical order is called: qg_@u{:ﬁf d:,ijb’_aJ:frh,:—‘? 4
(A) Mode sk (B) Median  _:lb-s (C) Mean L~ (D) Geometric Mean LIl ~
5. 20% of 600 is 3 T 20%¥600 .5
(A) 12 | (B) 120 (C) 20 (D) 200
6" Lowest form of 75.95 is: - FuL1f75.95 6
(A) 15 : 19 (B) 15:17 (C) 19:15 (D) 17 :15
7: On a crop produced on natural resources ushr is deducted at the rate of: _.—;_L}J J.ff s /""‘,;J" JJJK;&;;JJ 7
(A) 2.5% (B) 5% (C) 10% (D) 20%
8- If there is only a single grand daughter or an agnatic grand df,,erJu'fj’!&,gugxle( :::_...E)J..,:.—{_.I".wﬁhj.g;h{l_if 8
daughter, her share is: # - Bl okt
' 1 I 1 ]
(A) 4 (B} G (C) 3 (D) 9
9. Loss is there, when: 1);!-'.%:,.?!-':;,!1.#;‘. 9
(A) SP= CP  w3ypmd = 4 50d (B) SP>CP =33 ped >4 T
(C) SP = MP =t =l nges (D) SP< CP  w=dsjmd<y fnd
10. The person or entity whose insurance is being done is called the: e 1 eSSBS 2L e 10
(A) insured = (B) insurer & (C) drawer L3 (D) lessee- (7
11. A machine installed by the bank to dispense cash to customer is called: ,L,g,j{,;m;_dﬁﬂf_;fﬁ;égﬁféﬁut_@ 1
(A) computer }H.;r (B) scaner ;.:': (C) ATM [{LJ_LJ (D) card reader sis3¥
12. The tax which is charged on income, property and profits in the u:ﬁ,,ﬁ .'.:Jg:lgngcufﬁ;éwmgtf:&ﬁg ";} 12
form of income tax, property tax etc is called: _bg‘fé';l:‘.‘-;b@gdf:
(A) tax u’g (B) direct tax ch-f".-‘gf;: (C) property tax :J,;F.,_; (D) income tax Jgﬁ
3. The tax in the form of duties, motor vehicle tax is called: - é"::ru’gui F d,n.)’?n.}{.":}rﬂfgj 13
(A) indirect tax Jg:lpf.-‘g (B) direct tax Jg..:-.wugi.x: (C) property tax J?J,;L__{ (D) income tax J"Cﬁ
14. In4°, 4 is called: | | S ata® 14
(A) radical & " (B) exponent li= s (C) integer méﬂ (D) base L
15, g of 3,7,11,...........Is: & tglf 3T Vs 1B
(A) 3 (B) 19 (C) 23 (D) 20

223-09-A-30 ¥



S.8.C - (Parl-I) -A-2018

Roll No.

O &
r_/r.:;ﬁf,rlsgl

General Mathematics (Essay Type) (Arts Group)

(For all sessions)

Group- II-.....-:f

e LaJ 2

Marks: 60 Time:2:10 Hours &% 2:10 =3y 60:/:;
Section -I 2x18=36 Jif...:b
2. Write short answers of any six parts from the following. 2x6=12 L{ e l.?/";ﬁpli&?::.dfc;.dghb.u .2
I. Define ratio and give an example. -L{:JP...@;JL,:)LQ /‘J.:»;J A

i If ab=2:3, then find the ratio of 6a:2b. -y /#6a:2birab=2:3 11 i
iii. Express 7 25 @percentage. TS S8 % i
Iv. Calculate Ushr on a rice crop produced by natural resources .r-;___..a,rB,DU,DUDI=&3LJ‘EJJJ_15¢§!¢;¢,(‘EFJJJJ v

amounting to Rs.6,00,000/= EL{/'F':‘-‘??;

v. What is meant by Ushr? Ve Py
vi. Find the CP, when SP=Rs.851 Loss= 8%. - BB 2851 1= s Gy Sl e i
vii. Find the selling price, when MP=Rs.728, Discount=6%. 8% L T28 )= 2l Bl B St sy i
viil. What is meant by cost price? Tr‘-_:f/.l:"c..ﬁﬁaf Viii
ix. What is meant by cheque? Seslrle o ix
3. Write short answers of any six parts from the following. 2x6=12 _u’f fuLff/‘ﬂ:fL?'ﬁd;-d}Q:-UtJjbij .3

i. Convert 5000 Saudi Riyals into Pakistani rupees if A f:_ff un‘uyudu’ L!UL:J»”‘EDUO i

1 Saudi Riyal is equal to Rs.22.40/= ¥1e_222.40/= L $r7- 1
ii. Define property tax | YN Ly i
ii. A sales tax of 16% is imposed on television. If the marked price of the bmu.ad’ M :'_.H?L{'Lff " 16%xun(f’ i
television is Rs.18000/=. Calculate the total amount one has to pay if H;U{J’:’l.hd_»fun(}' #1¢—3,18000/= O]
he wants to purchase it. et i
iv. Write 0.424 in scientific notation. yg‘gdff }erf 0.424 .iv
v. Find the value of x | if logx =0.1597 ﬁq/?}*‘.:é‘f Y
(og243

vi. Solve; (0g9 SIS i

vil. Find missing element using formula @, =a+(n—1)d of A.P (Ptent Sea, =a+(n- 1)d Keila? vii
' a=5,a,=61, n=15 _a_f-?;hy«'f
viii. Find G.M between 9 and 5. U F sl Peend 549 viii

ix. Define arithmetic mean. _a_f-(._é!/l@ad‘? X

4~ Write short answers of any six parts from the following. 2x6=12 -L,:/r;ffc.:«Lfﬂﬁg’ﬁrlzfﬁ’;&;;gﬂ(fi@ﬂ ~4

I. What is universal set?

ii. Find A[) B If A={1,2,3,4} and B={7,8,9,10}

Find AU B, If A={1,4,7,8} and B={4,6,8,9).

"':.:_t‘rb(»..—rdeEf

Jk * A B 5B=(7,8,9,10)51A=(1,2,3 4111 ii

_,__a,{ #* AU B 3B={4,6,8,9).41A={1 ,4,7,8)./1

L1
A




L . Y e RS- T wEE

iv. Define Abscissa.

v. Convet 113% into °C.

vi. Represent points A(7,2) , B(-6,3) on graph paper.

vii. Find the mode for the data set.

viii. Find the Geometric Mean of 2,4 and 8.

ix. DefineRange.

Section -II

-l

s 13%
S AT.2) , B(-6,3)

6,2,4,3.4,5,4,5 s L sty

Note: Attempt any three questions from the following:

3. () Theprice of 15 suits is Rs.6750/=. How many such suits

can be purchased by an amount of Rs.4050/=

(b) A person died by leaving property of Rs.3,30,000/=. If he had left _n,}f},gﬁu{:g&;u?,,su,uomzﬁw"lg ()

_a_é‘:;h*mrq /¥ 824

('3,1_-3)

Vi
Vi
Vil

378k

8x3=24 _Q)gfagiﬁﬁcsﬂffufaé}&,ddjaﬂ WLy
Sid18750/= 2 $usiz15 L T (L) 5

Ut Ebe s ie s E e Uysia050/=

three daughters, then what would be the share of each daughter? L K L T St i

6. (@) Theshare of three partners in a business is in the ratio of );Lr.";_223ZSG{JU:JQ:JKJJJUJJJJ;@E () 6

2:3:3. If they suffered a loss of Rs.10,00,000/= in the business, /;;ﬁlﬁduﬁb’%‘_u‘iU,GD,UUDFJJLMEU:‘}‘

whalwas the share of each individual in the loss incurred.

(b) Findcompound profit on Rs.600/= for 4 years at 6%

per annum.

7. (a) Theprice of a tricycle is Rs.4000/=. If 16% sales

tax ischarged, then calculate the amount of

sales tax on 30 tricycles

(b) Solve with the help of logarithm table.

8. (a) Insertthree Geometric Means between 486 and 6.

(b) FU={6,8,9,10}, A={4,6} and B={6,8,9},

then verifiy that:

9. (a) Plot the graph if;

& o g ]

2 W-6%L- L dze 6001 ()

ALl

Folifioe g sa000i=23 6 A diig (L) .7

Ui 304@2_%}0‘@-’; E,}u( 16%

25.36x2.4569

847.5 el ()

_.i":fghd(_}/'.‘ofwkﬂéﬁx:MBS () 8

B=(6,8,9}4/A=(4,6).U=(4,6,89,10}.1 ()

(ANB) =4°UBC :f@f:,ﬁ;ﬁ
Y =3x+5 IS kst (L)

(b) Find the standard deviation for a set of ungrouped values, when 9! Z X =48,n =15 2 Potviss S F ()

fi=15,ZI=48 and x =10).

224-09-A-
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‘ﬂ{ S.5.C - (Part-I)-A- 2019

RollNo.___________ Sl (For all sessions) Paper-Cnde 51261

. Group-I- n..",:.!f . .
General Mathematics (Objective Type) (Arts Group) (u‘s/")u‘ L;J}Z
Marks: 15 Time: 20 Minutes 22 20:3s ' 157

At 36z -..-:.m_,'u’f._,rﬁu’wgéé_:ml,C,B,Aagrm,%&dryﬁzﬂfq K31 Léif'f(ju,pﬁﬁ.pmyrt?:c.f)
. - _L,f.!/fc“_.Lﬁ_l:«lfyf-yﬁfff_ﬂJWc_:QﬁdsffJﬁD | C,BAszelL
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided. |

1.3 %in term of percentage is: | _cg.,uftﬁf,»ég 44
(A) 3% | (B) 30% (C) 33% (D) 33';—%

2. In the proportion a:b::c:d "a" and "d" are called: -u__;'éff"d“;_uf”a"ﬁ.,,—fb?(fa:b::c:d 2
(A) Mean @l (B) extremes u-‘-'/" (C) E;nnsequent ._;jfg’ ¥ (D) anticedent .:.-a.ju’dé'l

3. On a crop produced on artificial resources, Ushr is deducted at the rate of: -c;_cﬁ(f a}(J}‘{J‘J JFJJK:.C;IJJJP” 3

(A) 25% (B) 2.5% (C) 10% (D) 5%
4. Zakat is deducted at the rate of: -.‘LC}"J J;fJ 395 4
(A) 3.5% (B) 2.5% (C) 5.5% (D) 4.5% |
5. Profit is earned when: | :ﬁé_t'LgE{ruwb&j 5
(A) SP=CP  w=djnd=yied ~ (B) SP<CP w=ijei<sicd |
(C) SP>CP wiyjnd>sled (D) Noneof these Ui twi )
6. The return earned by bank on the loan is called: et /e lin S/ 6
- (A)makup ALt (B) premium (£ (C) profit Cb (D) bonus ¥
7. A machine installed by the bank to dispense cash to customer is called: _%.JM‘:;. Gﬁ.srfu{ 4 H..‘u'i?j:c;:é‘ Gﬁhﬁ[_ﬁ..é 7
(A) computer }:_-,.f (B) scanner f..‘; (C) ATM r-:l.,(j-.:_.f (D) card reader .xs5K
8. The tax in addition to the price of the article is called: -qufu’gdeofJ/zJ( .8
(A) tax Jg ' (B) income tax Jg(ff
(C) sales tax J-C)’ (D) excise duty Jgi:fb.rf
9. Taxes of the form of duties, motor vehicles taxes are called_____tax. ubgé'fﬁﬁ--f‘fguf LﬁJJ@%)ﬁ 7439
(A) property sk (B) direct welnls (C) income H’/F (D) indirect L4}
10. ina", n is called: | | _L,gq""_(:(nu.fa" 10
(A) exponent Vi S (B) radical & (C) radicand % (D) base !
11. For2,6,11,17,.ccc000... Is I8 el a5 Ut2,6,11,17...... 11
(A) 21 (B) 22 (C) 24 (D) 30
12. For2,6,18,.......... ds is: ceedf %5 £2,6,18...... 12
(A) 162 (B) 161 - (©) 160 (D) 30
‘13, 1f U={1,2,3,4} , 4={4} then A is equal to: Lids A I A={4} U={1,2,3,4} /i 13
w1234 B) ¢ © {1} o {123} |
14. For Y=2 in 2x—y=06_ X is equal fo: X e K, y=2 f2x-y=06 14
(A) -2 (B) 2 (C) 4 (D) -4
'-15. F-ht% +x3: R _ - i%m{} _ XX+ x3}:_"""“+'r'u i
(A) arithmetic mean  ksidl> (B) Geometeric mean of Xj;XyueeeX,  hal(d 2K Xps Xpuee X,
(C) weighted mean ,Lfsl@lisf (D) median sk
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Roll No. _ __iobe ilied in by the candidate. (FOI’ all SESSEOI‘IS)
g o
General Mathematics (Essay TEZ?“&L;%?ZUN (zenlS” LJJ)Z
~ Marks: 60 Time:2:10 Hours 2‘:2:10 =3y 60:/‘.}
Section -I 2x18=36 Jil >
2. Write short answers of any six parts from the following. 2x6=12 -L{/Erfatlﬂﬁyﬁffz!gc_ﬁyf;u&f_ s 2
i. Define direct proportion. : _g_f-(_yﬁgfyu..,.fkf i
ii. Find the value of X the rate of 20:50::8: x. _%,—1”..-:2& X o8l 20:50::8: x i
ii. A person left a property of worth Rs.2400,000. Calculate the L,ﬁbtw-d};{;!g%fcgu___:ﬁdﬁo,DDD&.U’:L_ET i
amount of share of his wife. - _L,f/?';b’,_,ﬁ? K
iv. Calculate the amount of Zakat on an amount of Rs.500,000. ,Q/?'P’@JE}G{E:J%HSDD,DDD v
v. Find SP=? when CP=Rs850 profit 10%. 0%l 1/9504 Fd B Spiimss fpd
vi. Define business partnership. Write down its types. _ggrLJIJJI_g(_gﬁJgﬁ}d;Lm{ Vi
vii. Find the marked price when SP=Rs.858, and discount=12% _12%;:,;»5;l.;_uasa=¢..a:)a£,§-§?§?#;@}ﬁaﬂ Vii
viii. Simplify the ratio 8:12 in simple form. el Bl 8120 i
ix. Define insurance policy. 4.*7_5(4]11;6-4&4 X
3. Write short answers of any six parts from the following. 2x6=12 _J_);ffaglﬂ/"‘%ﬁflzfngazjf;gﬂd s .3
i. At what annual rate of profit would a sum of Rs.680 will increase at4db3);£:¢;,r;fu$80(";u_@ébf@f;JJL«/ A
to Rs.850 in 3 years and 4 months? ?ﬁt_yﬂgi‘__ﬂ85ﬂd
i. What is meant by indirect tax? e sl L)’-C:E;.J.;'i_. i
iii. A sales tax of 16% is imposed on television. If the marked price of aé&w;u{f:af/ﬁg, t']:?l_a@u/?k'IGOﬁ{v?J[E il
television is Rs.18000, calculate the total amount one has to pay. S LiAF I tbis Auzsd Fiee2,18000
I :; 1 1)~
iv. Simplify: [a”. bg} +[a5". bﬁ] ey
v. Write in the decimal form. 0.525 x 107 _ef B ey
vi. Prove that: 3log2+Log5=Log40 _gc.«:ﬁ Vi
vii. If the n" term of an AP is 3n-5 find AP. _ el 37 B35 n -0 i
viii. If 8 and 12 are two AMs between a and b. Find a and b. ,g,-Fﬁ'bma?uﬂL,«,-gﬁﬂ2J:fau_L_,u.=.f_’_b,-:uaﬁ viii
ix. Find the unknown element of A.P ‘a=10, a,=400 , d=5 _é,c:b*ﬁr;bfts:ufdf iX
4- Write short answers of any six parts from the following. 2x6=12 _L{/,_f/"a[_.!ﬁﬁ?f.plepj;Ljf:;bﬂgf*j&.w -4
i. Define intersection of sets. _guyﬁnfff’wiu;f N
ii. Find 4 — Bif: A={2,3,4,5}, B={2,4,6,8} :ﬁ‘-'%f-?#’ A-B i
iii. Find domain and range of R, if: R={(1,3),(1,4),(2,3).(2,4)} :ﬁ.%??:i”éﬂ:l%:ﬂfﬁ Jii




iv. Represent the point (2,~4) on graph. ,%«;U;{._BI/FJK(Z,-«&),E? AV

v. Convert 113%F into °C . _zE S eu0c 113°F v
vi. Define origin. _é;_ff_.yﬁd}w Vi
vii. Define range. ig-’:gﬂfw Vil
viii. Find the mode of the data set. 6,2,4,3,4,54,5 _g*?'ﬁl”n:lcﬁ.:fé:;b’ Vi
iX. Find the range of the data set. 6,8,10,14,13,12 _éﬁ’nyqé;lf X
Section -II (392>
Note: Attempt any three questions from the following: 8x3=24 -J éf;;iﬁ.ﬁwﬂiﬁ’ufcﬂljf:,(ﬁgt HOPEOY
5. (&) A motorcycle covers 80km in 2 liters of petrol. In how ELfLﬁ:KQDJJ:ﬁﬂ2fLr}:¢Qﬁ(JD .5
many liters of petrol will it cover 225 km? E‘fmmd:,%bfg L/&.JJE/’-&'}K 225
(b) Calculate the amount of Zakat on 10 tola gold and Ji_r,.ét_)_‘/?:i”' f':r[}/ s;f},_;d.:_y?aomw?1o (l-:-")
40 tola silver, if the rate of gold is Rs.40,000 per tola ~ —s:J7(3e2/5000=4 §(84 s 3e2,40,000=4

and rate of silver is Rs.5000 per tola.
]- P i . - .
6. (2) A man sold an almirah at a profit afTE %. If he sold it for Rs.209 %:Jzﬂggfn:ﬂ_J&:}.;ﬂ’f:‘ 7 Ed#”'-—gd—-d-‘ iLi(A) .6
he would have lost 2%. For how much the man purchased it? Sa L e 10 ST brhaiai2 e 158 es1 )t
(b) Find the compound profit of Rs.600 for four year's at 6% per annum. -ﬁ_;?)”él:-ﬂlfr_(,}; 1JL¢6%¥JL»-4{HTMGDD (1.,.-)

7. (a) Khalid works 6 days a week. Find his grass monthly wage, if Q/F:L_.;»‘g.f_.__:ﬂﬂﬂ.:dfﬁ_.r:_b/? Btz b (F) 7

his rate of pay is Rs.200 per day. _g-?:l”ajl;yl.dﬁgfwlﬁ_tg
25.36x2.4569 .
(b) Evaluate using logarithm table. 247 5 43_5&:.”.&),@&(“5@ ()
8. (a) Find three A.Ms between ~/2 and 62 . _a_i?;b’md"-ﬁuyﬂ.{iﬁ;;lﬁﬁ () .8
(b) Ifx= {0,33,5} Sy = {2,4,8} then establish any JEXXY ey = {2,4, 8} o {0,3,5} S (t._--')
four binary relation in XX Y . . 46 JgJI.!JLEE"JEf
9. (a) Draw the graph of: y=2x+1] _g._iff () .9
(b) Find the standard deviation of the the values. 2,3,6,8,11 gl (&)
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Roll No.__ P Y (For all sessions) PaperCode | 5| 2 | 6 | 2
Group-II- u:__.::; .

General Mathematics (Objective Type) (Arts Group) WS LJJ)’

Marks: 15 Time: 20 Minutes &4 20:22% 15 /

At S8R e W n S £ 49D .CB Autfy.,@bzidrr;qfqrdswfu”,ﬂd’d;uu;&_,mrru Y
_J;/'a,u?L-JJLf e S 5ere FsLD L CBeA szt
NOTE Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
quéstion with Marker or pen ink on the answer sheet provided.

1.1. 0.13 as percentage is: | e A Sd0.13 11
(A) 13 (B) 30 (C) 13% (D) 10%
2. In a ratio a:b "a" is called: | | e tedSab 2
(A) extreme Jl;r‘f (B) antecedent RN (C) consequent ¢.~'~'fo ¥ (D) mean @k
3. The share of widow in the presence of a child or agantic grand child is. ?‘Ltﬁﬁf(pﬂﬁﬁf&u:!)ﬂbdsrg%fﬁub’u;s 3
(A) ﬁ (B) "é' (C) % (D) :,15
4. Zakat is deducted at the rate of: | AN AT
(A) 3.5% (B) 4.5% | (C) 5.5% (D) 2.5%
5. Loss is there, when: :ﬁ:q.rﬂuba'ﬁ 5
(A) SP= CP  wisjud = piusd (B) SP>CP w3 ped Suped
T (C)SP< CP  wijnd<pind (D) SP=MP ebrped=ftngss
6. An instrument like a cheque issued by a bank on the request of its {ufﬁ;:d:f PRSI NL [1) A O
" customer is called: | | eSS
(A) pay order 3/Te (B) cheque &
(C) bank draft 35t (D) bill of exchange JE@C{I |
7. The percentage of profit/ markup charged is called: _L,ngff @;JJJﬁJHIJLx(‘EV i
(A) principal i (B) interest (C) time [t (D) rate s
8. The tax charged on all the taxable income is called: ..a.len'/ .-:.I:lprﬁ;d,uu‘c Jbr'Lf.?JCu .8
(A) sales tax Jg)-'-' (B) direct tax ngbgf.; (C) income tax u; f{ (D) excise duty d!:foI
9. The tax in addition to price of the article is called: - aZ At ed S e 9
(A) tax Jg (B) sales tax nglf (C) income tax u’gﬁ'l (D) excise duty Jgiﬂ—&li
10. 3+/7 is called: | & 37 10
(A) radical . (B) radicand s - (C) ratlunaf number .wul’L (D) integer mf
11. Third term of @, =1 +3 is: e fg A8 a,=n+3 11
- (A) 3 (B) S (C) O (D) 6
12. G.M between 1 and 8 is: _ ~c b A8 12
(A) 242 (B) +24/2 | (8): <942 D) +2
43. (AﬂB)ﬂ is equal to: -+AIJ(AHB)C
@A) AUB 7 (é) ANB (c)y A°UB° (D) A°NB°
14. 1fY =3X then for X =2 we have ¥ equal to: is‘mul’?uffx= 204y =3x /1 14
(A) 6 | (B) 8 () 9 (D) 7 1
15. e Z[lj s called: et o z[.l_] 15
X A

(A) Harmonic mean Lf.:i_f:f.zi. (B) Mode sk (C) Mean L~ (D) Arithmetic mean. JwIL}LP
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ii. If A={-2 1,4} then write two binary relation in A. ig%ljfﬂ_jl:f!:u:ﬂ;ﬁﬂ:{-l'f ,4})7

Al

Roll No. to be filled in by the candidate. (For all sessions)
I1- e
General Mathematics (Essay Tyﬁg?u&gs E:{up) (,.;t:':?l)do LJJ)’Z |
‘Marks: 60 Time:2:10 Hours gz:m =3 60:/.'}
Section -1 2x18=36 Jil o>
2. Write short answers of any six parts from the following.  2x6=12 -z feliz L 217 e Meviditn 2
i. Define direct propottion. _’:‘_,?:_._E; /"'J.:.fu_ﬁfl; i
ii. If 45% of the students in a school are girls. What percentage are boys? ?Jﬁyﬂ.ﬂ}:iﬁJuﬁ?u:fu,l_fr',‘fﬂ*l;.;’45%¢.L,f.'.,ﬂ’uid:"/'..,ﬂ/ﬁ i
iii. Express 65% as fraction in their lowest form. _z:,_ird"wrdf’uvﬂ/? 65% iii
iv. What is meant by Ushr? e sl P v
v. Calculate Zakat on gold amounting to Rs.11,10,000/=, c‘f(:l”‘ ﬂfw!rd_uﬂ 10,000/= JLJ:..-:’J( v
vi. Define Loss. . é(._.af/‘!JuL.aﬂ Vi
vii. Find cost price when SP is Rs.851/=, and profit is 8%. —La%g;ﬂ‘ﬂ_JJBS‘II—JJ}Jﬁi .al’Cbﬂ..a’ Vi
viii. Find sale price, when MP is Rs.760/=, and discount is 5%. n_.f,"”gEi%J:Ir’_u?EB.-’ Jey{,uﬁc,@(}”m:}ux’ i
ix. What is meant by Saving Account? Sl e 3k ix
3. Write short answers of any six parts from the following.  2x6=12 -/zfeliz/ L iz e bl tditn 3
i. Define Financial Lease. _r%{..gﬁJ B
ii. Define Excise duty. éf.ifﬁf (j:"’*" LT i
jii. Find the value of added tax at the rate of 10% at the marked price of dL«»f:_.E, /J 3 U%xuzsd’ Lod ¢—1,12000/= iii
Television of Rs.12000/=. “bﬁﬂf;;iurc
iv. Write 0.86 x 10" in decimal form. _a;_wﬂum)%,,wﬂf 0.86 x 10° .iv
v. Find the value of X if logx =0.1597 S fpfr=df X
vi. Prove that: 3log2+Log5 = Log40 :,féazl:'* Vi
vii. Define Arithmetic Mean. ..t’::.fi-é_lj’—p[’kdd‘? Vii
viii. Find the G.M between 3 and 27. _%}*’mq Slend 2743 i
ix. Define Geometric sequence. -éle/"if.ufd 74X
4- Write short answers of any six parts from the following. 2x6=12 -Jﬁ)}f;yﬁf?ﬁf!zhﬁc.éfcﬂdd s -4
i. Define Function. By S
ii. Find U—4if A={4,6} , U={4,6,8,9,10} Siegol -4 i




iv. Convert 86°C into °F (Fahrenheit) . _2L st (e AwE)OFS 86°C Liv

v. What is meant by ordered pair? T;ff:r,f_b"c_g_iﬁh:}'/ V

vi. Convert 220°F into °C (Centigrade). L et (1 S5)0Cs 220%F i
vii. What are quartiles? S YUEE, i
viii. Write the formula of variance for group data. .,gljumﬁK(:lfw:j).:-; 7 i
ix. Find range of the data. 6,8,10,14,13,12 ek ix
Section -II r‘ﬂ.b
Note: Attempt any three questions from the following: 8x3=24 - )};al,.lﬁic.«ﬂlfwf::ﬁ;:.gﬁd R10Y) Y
5. (a) A factory makes 600 suits in 9 days with the help of e B004 U8 s 208 Ll (H) 5
20 machines. How many suits can be made in 12 days e S U2 saust 18t ix
with the help of 18 machines? oL s

(b) A person left a property of worth Rs.24,00,000/=. Calculate JI_JJ;{:I{}'LFJ:J"L.?L:J24,[}D,UDD;’=L(_5:7~§ ()
- the amount of share of his wife, a son and a daughter. -J“/T*J”,bﬁ'&hﬂj:lﬁ;_{:d:jﬁa_uf
6. (a) Aslam, Anwar and Akram earned a profit of Rs.2,50,000/= _Llfﬂf’.—*:_ufz,SD,DUDf=c.;§:;E'uﬂi.rﬁJ:I;§rrrl/l () 6

from a business. If their investments in the business are of (‘f%’@ﬁ?ﬁﬁk?:14#}&#&@@.{/&@/1
ratio 4:7:17 respectively, find the profit of each. ,4’:5?‘:5”

-

(b) Find the compound profit on Rs.600/= for 4 years at 6% pér annum. -&_'_.fﬂ?':!"‘c.iL'»J—'iléf:;.E,};HVG“HD@(JLAL;.;_MSDD# (-...-«)
7. (a) The total taxable income of two persons is Rs.2,50,000/= and 4‘_;;2.50,DD[}!:..,;!?I,&.JJ?JFJJUKJT}:(Jl) o

Rs.3,10,000/= respectively. Workout the income tax for each of J 4..5”3&.;{},5&);’5;_{#&__._:;3,1D,UUU,':;:I

them @ 4.5%. Hag?kfugfmw.-;a;
8.67x3.94 .
(b) Solve with the help of logarithm table. 178 -qé(f;;;gfdsjg&ﬂfﬁ ()
1 _ I
8. (a) Insert two G.Ms between 4 and E , yé}”bﬁ}d/‘.ﬂ)u}yﬁﬁ—g 4 (L3N .8
(b) 14 ={2,3,4} . B={3,6,9,12} and C ={4,6,8,10} B={3,6,9,12} . A={2,3,4} i ()
, then prove that: AU(BUC)=(4UB)UC tfé,i‘/:a%?ﬁC:{"r,ﬁ,g,]U} 2!

8. (@) Draw the graph with the help of point A(5,2),B(-6,-2) and C(8,7). qg_.;rf ¥ C(6,7)4B(-6,-2):A(5,2)b (1) .9
i
(b) For the data find Mean, Median and Mode. 3,5,6,8,8,9,10 _.ﬁ.:_*:.fr:l”uh;ﬂ::l.h«:chaiﬁaw (s.,-—)
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